AP Calculus BC — Unit 8 Part 2 Extra Practice

8.4 — Extra Practice

—~ .
- Plot the (7",9) polar coordinate and find the corresponding rectangular (x,y) coordinate.
57 - 1z =(Cle-
7= D +=2g- 3% iy Rinid X= '
#13b. ( ’ 4 j = ?’&.j{%.r-) #]T4b. ( s 5 ‘:;7'["’2‘)0?;66%?:3*
9 :':f;t'('” %):“ﬁg : 3 3“6"?‘)[ 2) ="
» . . g.—;«r&m ul’f“)
g =rsne \ = 1 (1) fai‘l\c & -
=75 ) ol b L -)1)= !
RPN N W { ) V\—__’\__"ﬁ_\),_,}’%———

T T !I,.. /2 ‘;:\,\‘\\ “ |
ook I i
o, + <

i - '
s L z
- T a
9%
™

The rectangular (x, y) coordinate is given. Plot the coordinate, the find two sets of polar coordinates for the same

location with 0<0<27
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Convert the rectangular equation to polar form and sketch its graph.
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Convert the polar equation to rectangular form and sketch its graph.
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Find the points of intersection of the graphs of the equations
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8.5 — Extra Practice

Find the points of vertical and horizontal tangency (if any) to the polar curve.
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Find the arc length.
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8.6 — Extra Practice -

Write (and evaluate with calculator) an integral that represents the area of the entire figure.
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#9b. inside =1 and outside r=2cos(6)
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Write (and evaluate with calculator) an integral that represents the indicated area.
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